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8 ¥ | 83,427 45 21,009 158 300 16,869 25,755 11,327 4,769 1,730 659 147 161 175
[0 A | 3,088 1 638 6 5 511 988 599 224 71 21 8 1 7 8
mWHA | 6,276 11,811 4 13 1,247 1,954 704 287 118 47 37 18 18 17
? B | 2,861 24 691 6 27 622 881 349 166 64 22 5 - 4 -
tw B | 5,509 1 1,064 7 18 84 1,530 1,101 570 194 9] 42 14 11 12
ZF 4 ] 19 — 536 - 1 405 676 239 62 15 5 — 2 - —
r ® | 3,827 1 584 2 5 574 1,277 813 376 115 39 16 6 8 11
% B h| 6,826 - 1,352 25 28 1,194 2,006 1,156 611 216 96 59 22 34 27
% ok M| 1,930 - 458 1 7 424 707 224 71 22 7 7 1 — 1
BE B 0 186 1 107 — 1 33 30 7 4 1 1 — - — i
I | 2,540 - 680 5 4 577 888 256 70 19 12 5 7 7 10
B B\ Ol 984 - 396 — 1 280 248 45 9 3 — — — 2 —
HE OB | 1,247 640 4 8 307 211 44 18 9 1 1 — 2 2
A B | 1,769 - 380 5 3 360 641 232 90 27 19 5 4 2 1
% K W 989 - 175 — - 179 347 150 80 32 8 10 — 4 4
£ & 0 859 — 101 — 2 90 279 222 131 25 4 1 — — 4
A& W AT 416 — 25 - — 27 88 108 107 45 11 1 2 1 1
B W] 1,415 — 361 1 2 410 508 108 15 5 2 — - — 3
H # W 836 - 200 1 1 184 343 72 20 10 3 1 1 — —
K % W | 1,436 — 354 1 1 332 555 140 27 13 6 1 3 — 3
"R W 1,113 - 247 2 - 258 452 124 20 5 4 - — — 1
O N o1,027 1 348 2 1 307 297 47 9 5 2 3 1 1 3
w B OE| 2,169 1 346 6 1 386 781 390 140 54 22 11 10 9 12
i AT 270 — 77 - 1 59 68 36 14 9 2 2 - 1 1
g H 274 - 100 - — 65 71 32 2 — 1 1 1 — 1
JII B AT 480 — 210 - — 116 135 18 - 1 - — - — -
B ] 566 — 218 — — 169 141 25 6 4 1 1 - — 1
oo T 739 — 199 - — 123 232 133 41 5 2 1 1 1 1
= i Ar| 1,032 — 201 — 1 218 410 141 44 13 2 — - 1 1
E ) 714 - 175 2 2 18 268 72 7 2 - - - - -
% i W 1,108 - 105 2 1 147 451 278 95 18 8 — 2 — 1
H R M AT 190 - 81 - 1 35 55 11 3 1 - — - — —
— & Wl 1,187 — 335 - 3 265 381 145 39 9 5 2 2 - 1
H I BT| 1,708 - 624 - 4 431 526 102 11 4 1 1 - 2 2
E % E| 1,529 — 324 - 2 258 501 268 127 35 8 3 1 2 -
£ & & 1,344 - 696 2 5 413 207 16 3 1 — 1 — — -
= 2 i 943 — 112 - - 103 242 265 149 47 15 7 1 1 1
) w Ay 793 1 291 3 15 193 224 41 9 7 3 2 2 1 1
R o= H 802 - - 394 1 5 262 118 13 2 5 1 — — — 1
% & W 1,342 — 218 4 2 204 431 276 134 47 10 8 3 3 2
B f1 W | 1,919 1 271 6 4 322 537 384 214 111 38 17 4 7 3
X A W 696 1 264 2 17 174 175 45 9 4 2 — 2 1- —
g MmN 839 - 213 4 6 192 300 85 16 12 4 1 2 3 1
= ) F 445 — 205 2 5 122 94 15 2 - - — — — -
£ e BT | 1,024 - 103 1 4 101 242 197 181 102 48 21 11 6 7
— RO 308 1 131 2 - 78 64 20 10 1 — - 1 — —
AR OH 463 - 65 2 — 62 120 106 63 31 8 2 2 1 1
M o om 677 - 180 2 5 165 205 68 36 11 3 1 1 — -
MOR A 301 - 100 6 5 101 60 19 5 2 - - - 3
X &g W 702 - 290 - 2 187 177 32 9 2 3 - - - -
o B H 243 — 75 5 2 67 78 10 2 3 1 — - - —
wWOoE M 329 ) 52 — 1 51 155 48 12 8 1 - — - -
KA H 252 1 113 - — 59 56 12 5 1 1 - 1 1 2
B & W| 1,088 — 231 - 3 270 455 101 19 5 2 — 1 1 -
B M| 1,278 - 247 5 3 201 436 269 77 21 9 3 — 2 5
o B 350 - 101 — — 122 108 14 4 — — — 1 — -
B 1 HET| 1,133 - 169 2 - 176 421 254 77 19 5 3 1 1 5
X 1L H A 802 - 111 3 3 112 249 173 81 34 13 9 4 3 7
# oW 818 — 202 1 4 179 309 93 15 12 1 1 - 1 -
e B O 208 — 61 2 2 45 68 18 8 3 - 1 - - -
x F M 115 1 86 2 2 18 5 1 — — - - — -
& OB N 170 1 143 - — 21 5 - - - - - - - -
B2 T 982 — 412 - 4 287 227 36 12 1 2 - - 1 -
R 864 — 246 3 1 209 250 97 33 9 9 1 — 4 2
atris e =10] 415 - 215 1 4 88 83 18 1 2 1 1 - 1 —
i I 322 1 139 9 11 83 68 8 — 2 1 - — — —
Mo AT 1,419 5 353 6 31 305 397 152 70 46 20 18 8 4 4
/ E® W 692 — 192 -~ 6 189 222 45 15 13 3 2 3 2 -
A AT 258 — 155 - - 66 34 3 - - - - - - -
B OB M 50 - 30 - 1 9 7 2 - 1 - - - - -
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